k-

5470 Bt e BRI =16~23
35 9,400 35 BiR-BE/SRIL | SRR hEHRt=0.6
900 900 . 900 900 900 R i 7K & Hrt=12
| | | BAOE F7 | RF—LER7 HBE=
3 go — ~ RN
@ e : : : = TILIHyL FEL
#BSEm | F1R2000
o
o
(o>}
XEBRMBELATINEERRE
o
8 —_—
S
@ #:060
+ e [ 4,955
e
8§ o 105 4,640
#| 5 8
ol Y| @
3
<
S 0N b3t AR T $ASMAR=0.6
> O/
@ BHR AR $A5MIR=0.6
LO)|
° FEE S1/50 |
(—
30 5,470 30
T T | EERERERE06
[ ]
8l 38
2
Y1 SEE $1/50 | B SABAT S SMIR=0.6
210, 4,640 105 /
B I
— ! —
PR K& HRt=12
~ S -
. | % & B si1/20 |
| x2 STEE S:1/50 |
STEE1E (3oA=| AL TEAH K@% mR RE&Es BN EREN
OKL(2.5K % 3.0K)

F - AR SR




